M =

g

PILRRBBERNE 109 25K
FEBRERATOBEH R —REH

~HERE C1094E9 3 H (PU) B4 8 B

RS MRAE

Y HEUERE 3% e
CHEAS  ARSESREE g E

YRR BS

« YT

WE—  KEHTEE S -

S AEHIR R E TR S TR TEE > Ea -
S IR S RESEAGER - CER 14 = KY0E)

B B RGRE RERERE
S - AR E - SRR E RSB E R RS - E
FEREIRBBRIIRE - (RINEAE - BRI S 2 ERE -

H= 109 LS SHARET R R R -
S - AR R E A REETE - BEGTR ARG BEER - 28
A2 B R AT (F ~ IR EYR R 5 -
R IO R EERBR T - (B 142 KE0E)

AT ¢ 109 BUERERSMREEH B -
R AR RS ET) TS S BE SRS 110

F10 7 -
Rk SREREEBREN - (BN 145 KE0E

FEHT ¢ 109 BELEE-BHEURE -

S ¢ IR E SRS i B SRR R T ES TE N » BB e
B30 PEFRRER R HLLHR VB RE  REEgE. -
FHAIGREEE - BT TR G LI EURR -

R - RO R EEABR T - CER 142> KE05)




WER - BETIMESTE T Al
]  RGETAMEE EAUEEE > STEAALEF - BEMERLFBE -
R - eRERk B ERGUEIRR N o (B 14 5 R0 F

- EREFE

JU~BxE 1094 H 9 H 3 H B 8EE30 73

i o
VARYY

ES:EA AL B~ K3t 538 8 B
E 8
fi —
£ & E M 2% 4 25 A 19,8017 ¢ 8
FiE=
% 7B 4E 4 #4925 A 3
% TREAE IR 4% 4 25 A
SR lahu
34 4wk A4 % o
PP B R4 4 20 A oA
S hus)
At 4 20 A 5
FHE B4 PR ] 13:30~17 : 30
BHEE
% It K A4 # 25 A 5
= L Il L 13:30-17 : 30
1) & A% SR # 58 A 3= 8:00-8 : 40 |
M % e # 58 A i@ = 8:00~8 : 40 1
M9 & 4 @ FEEG (42] A 38 =13:30~15:50 3
K% EE® (820 A g 8:00~9 : 25 2
= PEG (420 A H#r 8:00~8 : 40 |
35 KER |8 25 A i E 8:00~8 : 40 1
IEG U & E 4% il A 14:20~15 1 50 -
3 B AR SR 4R &S 48 # 15 A £#iB=16:00~17:30 2
AR AR P E 4R 17 A FiB——% 16:00~17:30 6
HiB— WA
WA =ty #13 A 8
R TE R (] 16:00~17:30




GALBRARBBR R /AE 109 255
RREELABCCBLEENE— ¥ —REeB
10949 H3H (/W) B4 8%
o B mm | s #H ! #H
e BT
S E saff | — T : il 4 45 g
BE 3{% WEE | S %&zﬁ% R 2,
(EEZE) o S % %
%
o 23 e FiE
p = ~ S A 38 &
B G | mme | mam ({5 OH] 5T E
SERMESE ) J 2= ‘ ‘% c%
AV ‘kw )
| FUE
TUAE4R TE shnsic .
4 A & G & wmxm | 7Y ﬁgﬁjf éq%
A @ o _
L N P e . .
L | e o I,
g2, W, | B . j | = /%WZ_ % %%%
ok f’% :
— 4R TNEEAR %
(A4 *"a@vf\%@@%@m R |7 FLL %
itz ot




